
MATHS

BOOKS - A N EXCEL PUBLICATION

PROBABILITY

Question Bank

1. If one unbiased coin is tossed at random, write the

sample space

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_D2xsx6mLXMkc


2. If two unbiased coin are tossed together, what will be

the sample space ? Justify.

Watch Video Solution

3. A coin is tossed until two heads ora tail is realised

specify the 'sample sapce'.

Watch Video Solution

4. A coin is tossed repeatedly until a head comes up.

Write the sample space.

Watch Video Solution

https://dl.doubtnut.com/l/_vDMtIKwe1BOl
https://dl.doubtnut.com/l/_3WCXVM4gcSEA
https://dl.doubtnut.com/l/_I3xp1trWfo6I


5. Describe the sample space for the following indicated

experiments A coin is tossed three times.

Watch Video Solution

6. Describe the sample space for the following indicated

experiments A die is thrown tow times.

Watch Video Solution

7. Describe the sample space for the following indicated

experiments A coin is tossed four times

Watch Video Solution

https://dl.doubtnut.com/l/_I3xp1trWfo6I
https://dl.doubtnut.com/l/_6NZ6yFH9b3OV
https://dl.doubtnut.com/l/_DT0O0UsePHd7
https://dl.doubtnut.com/l/_GVllcg9XzrnH


8. Describe the sample space for the following event: 

A coin is tossed and a die is thrown.

Watch Video Solution

9. Describe the sample space for the following indicated

experiments A coin is tossed and then a die is rolled

only in case a head is shown on the coin.

Watch Video Solution

https://dl.doubtnut.com/l/_GVllcg9XzrnH
https://dl.doubtnut.com/l/_ebuKFiZUEgiY
https://dl.doubtnut.com/l/_WdllNKlJ89nW


10. Describe the sample space for the following event: 

2 boys and 2girls are in a Room X and 1 boy and 3 girls

in room Y. Specify the sample space for the experiment

in which a room is selected and then a person.

Watch Video Solution

11. Describe the sample space for the following event: 

One die of red colour, one of white colour and one of

blue colour are placed in a bag. One die is selected at

random and rolled, its colour and the number on its

upper most face is noted.

Watch Video Solution

https://dl.doubtnut.com/l/_9TEE2zSIpasL
https://dl.doubtnut.com/l/_RmTz6h3eTDiI


12. An experiment consists of recording boy - girl

composition of families with two children What is the

sample space if we are intrested in knowing whether it

is boy or a girl in the order of their births?

Watch Video Solution

13. An experiment consists of recording boy - girl

composition of families with two children what is the

sample space if we are interested in the number of girls

in thye family?

Watch Video Solution

https://dl.doubtnut.com/l/_LgocNvmGLdLH
https://dl.doubtnut.com/l/_F994yVE2q23T
https://dl.doubtnut.com/l/_Hs5EcoJXQnDh


14. A box contains 1 red and 3 inddentical white balls.

Two balls are drawn at random in succession without

replacement. Write the sample space for this

experiment.

Watch Video Solution

15. An experiment consists of tossing a coin and then

throwing it second time if a head occurs. If a tail occurs

on the first toss, then a die is rolled once. Find the

sample space.

Watch Video Solution

https://dl.doubtnut.com/l/_Hs5EcoJXQnDh
https://dl.doubtnut.com/l/_binru8ACfi8W


16. Suppose three bulbs are selected at random from a

lot. Each buib is tasted and classified as defective  or

non- defective  Write the samespace or this

experiment.

Watch Video Solution

(D)

(N)

17. Describe the sample space for the following event: 

A coin is tossed. If the outcome is a head, a die is

thrown. If the die shows up an even number, the die is

thrown again.

Watch Video Solution

https://dl.doubtnut.com/l/_OvvQZNDn5MSQ
https://dl.doubtnut.com/l/_BYg3fDCLAeEC
https://dl.doubtnut.com/l/_8qxrHq0hRoWf


18. The numbers 1, 2, 3, 4 are written separately on four

slips of paper. The slips are put in a box and mixe

thoroughly. A person drass two slips from the box one

after the other, without replacement. Describe the

sample space for the experiment.

Watch Video Solution

19. An experiment consists of rolling a die and then

tossing a coin once if the number on the die is even. If

the number on the die is odd, the coin is tossed twice.

Write the sample space for the experiment.

Watch Video Solution

https://dl.doubtnut.com/l/_8qxrHq0hRoWf
https://dl.doubtnut.com/l/_7AQvymL2N6Fo
https://dl.doubtnut.com/l/_oVkwH3o4L7OK


20. A coin is tossed If it shows a tail, we draw a ball from

a box which contains 2 red and 3 black balls. If it shows

head, we throw a die find the sample space for the

experiment.

Watch Video Solution

21. A die is thrown repeatedly until a six comes up. What

is the sample space for this experiment?

Watch Video Solution

22. A die is rolled. Let E be the event "die shows 4" and F

be the event "die shows even number". are E and F

https://dl.doubtnut.com/l/_oVkwH3o4L7OK
https://dl.doubtnut.com/l/_kke1iDUspCFb
https://dl.doubtnut.com/l/_XagvTGQ9RaWQ


mutually exclusive?

Watch Video Solution

23. A die is thrown. describe the following events: 

A: a number less than 7.

Watch Video Solution

24. A die is thrown. Describe the following events (i) A : a

number is less than 7(ii) B : a number is greater than

7(iii) C : a multiple of 3(iv) D : a number less than 4(v) E :

an even number greater than 4(vi) F : a number not less

https://dl.doubtnut.com/l/_XagvTGQ9RaWQ
https://dl.doubtnut.com/l/_yiAsRbXfcz4d
https://dl.doubtnut.com/l/_4wZvjR9msxnR


than 3
 Also find

Watch Video Solution

A ∪ B, A ∩ B, E ∪ F , D ∩ E, A − C, D − E, F ' , E ∩ F '

25. A die is thrown. Describe the following events (i) A : a

number is less than 7(ii) B : a number is greater than

7(iii) C : a multiple of 3(iv) D : a number less than 4(v) E :

an even number greater than 4(vi) F : a number not less

than 3
 Also find

Watch Video Solution

A ∪ B, A ∩ B, E ∪ F , D ∩ E, A − C, D − E, F ' , E ∩ F '

https://dl.doubtnut.com/l/_4wZvjR9msxnR
https://dl.doubtnut.com/l/_cClJrJ0346Ku


26. A die is thrown. Describe the following events (i) A : a

number is less than 7(ii) B : a number is greater than

7(iii) C : a multiple of 3(iv) D : a number less than 4(v) E :

an even number greater than 4(vi) F : a number not less

than 3
 Also find

Watch Video Solution

A ∪ B, A ∩ B, E ∪ F , D ∩ E, A − C, D − E, F ' , E ∩ F '

27. A die is thrown. describe the following events: 

E: An even number greater than 4.

Watch Video Solution

https://dl.doubtnut.com/l/_bvHXBp3cWuvy
https://dl.doubtnut.com/l/_CDODY5CtofG7
https://dl.doubtnut.com/l/_134ntJoueC3q


28. A die is thrown. Describe the following events (i) A : a

number is less than 7(ii) B : a number is greater than

7(iii) C : a multiple of 3(iv) D : a number less than 4(v) E :

an even number greater than 4(vi) F : a number not less

than 3
 Also find

Watch Video Solution

A ∪ B, A ∩ B, E ∪ F , D ∩ E, A − C, D − E, F ' , E ∩ F '

29. An experiment involves rolling a pair of dice and

recording the numbers that come up. Describe the

following events. 

A : the sum is greater than 8, B : 2 occurs on either die, C

: the sum is at least 7 and a multiple of 3. Which pairs of

these events are mutually exclusive?

https://dl.doubtnut.com/l/_134ntJoueC3q
https://dl.doubtnut.com/l/_lmzDu58aJ9MX


Watch Video Solution

30. Three coins are tossed once . Let A denote the event

"three heads show" , B denote the event "two heads and

one tail show", C denote the event " three tails show"

and D denote the event "a head shows on the first coin".

Which events are mutually exclusive?

Watch Video Solution

31. Three coins are tossed once . Let A denote the event

"three heads show" , B denote the event "two heads and

one tail show", C denote the event " three tails show"

https://dl.doubtnut.com/l/_lmzDu58aJ9MX
https://dl.doubtnut.com/l/_rWZm2qqV54RP
https://dl.doubtnut.com/l/_awNp8SXXgIyN


and D denote the event "a head shows at the first coin".

Which events are simple?

Watch Video Solution

32. Three coins are tossed once . Let A denote the event

"three heads show" , B denote the event "two heads and

one tail show", C denote the event " three tails show"

and D denote the event "a head shows at the first coin".

Which events are Compound?

Watch Video Solution

https://dl.doubtnut.com/l/_awNp8SXXgIyN
https://dl.doubtnut.com/l/_og0vblobrYy4


33. Three coins are tossed. Describe two events which

are mutually exclusive.

Watch Video Solution

34. Three coins are tossed. Describe three events which

are mutually exclusive and exhaustive.

Watch Video Solution

35. Three coins are tossed. Describe Two events which

are not mutually exclusive.

Watch Video Solution

https://dl.doubtnut.com/l/_FQcaOQRQ9vq0
https://dl.doubtnut.com/l/_NotwVmIq4YhR
https://dl.doubtnut.com/l/_5LsWOPVzyXfr


36. Three coins are tossed. Describe Two events which

are mutually exclusive but not exhaustive.

Watch Video Solution

37. Three coins are tossed. Describe Two events which

are mutually exclusive but not exhaustive.

Watch Video Solution

38. Two dice are thrown. The events A , B and C are as

follows. 

A : getting an even number on the first die 

https://dl.doubtnut.com/l/_5LsWOPVzyXfr
https://dl.doubtnut.com/l/_68VmNpptv9z1
https://dl.doubtnut.com/l/_GaND09axkxZd
https://dl.doubtnut.com/l/_6cmvEcsjmHo6


B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  5

Describe the events A'

Watch Video Solution

≤

39. Two dice are thrown. The events A , B and C are as

follows. 

A : getting an even number on the first die 

B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  5


Describe the events not B.

Watch Video Solution

≤

https://dl.doubtnut.com/l/_6cmvEcsjmHo6
https://dl.doubtnut.com/l/_2cK2tG67aD28
https://dl.doubtnut.com/l/_ch3IHaiXIXes


40. Two dice are thrown. The events A , B and C are as

follows. 

A : getting an even number on the first die 

B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  5.


Describe the events A or B.

Watch Video Solution

≤

41. Two dice are thrown. The events A,B and C are as

follows: 

A: getting an even number on the first die. 

B: getting an odd number on the first die. 

https://dl.doubtnut.com/l/_ch3IHaiXIXes
https://dl.doubtnut.com/l/_7Q3x4Z3uVvV2


C: getting sum of the numbers on the dice . 


Describe the events.

Watch Video Solution

≤ 5

42. Two dice are thrown. The events A , B and C are as

follows. 

A : getting an even number on the first die 

B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  5

Describe the events A but not C.

Watch Video Solution

≤

https://dl.doubtnut.com/l/_7Q3x4Z3uVvV2
https://dl.doubtnut.com/l/_z2WfatnNCoHa


43. Two dice are thrown. The events A , B and C are as

follows. 

A : getting an even number on the first die 

B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  5

Describe the events B or C.

Watch Video Solution

≤

44. Two dice are thrown. The events A , B and C are as

follows. 

A : getting an even number on the first die 

B : getting an odd number on the first die. 

https://dl.doubtnut.com/l/_KADCgX1rUbz9
https://dl.doubtnut.com/l/_4qJ9zFf217Gb


C : getting the sum of the number on the dice  5

Describe the events B and C.

Watch Video Solution

≤

45. Two dice are thrown. The events A , B and C are as

follows. 

A : getting an even number on the first die 

B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  5

Describe the events 

Watch Video Solution

≤

A ∩ B' ∩ C'

https://dl.doubtnut.com/l/_4qJ9zFf217Gb
https://dl.doubtnut.com/l/_pfRVQXyS31Ny


46. Two dice are thrown. The events A , B and C are as

follows. 

A : getting an even number on the first die 

B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  


Describe the events

(i) A ′
(ii) not B
(iii) A or B
(iv) A and B
(v) A but not C
(vi) B

or C
(vii) B and C
(viii) A∩B ′∩C ′

Watch Video Solution

≤ 5

47. Two dice are thrown. The events A , B and C are as

follows. 

A : getting an even number on the first die 

https://dl.doubtnut.com/l/_TctN6lzjVdsL
https://dl.doubtnut.com/l/_ZTJsEjeJm9PA


B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  


state true or flase ( give reason for yours answer)

A and B are mutually exclusive and exhaustive.

Watch Video Solution

≤ 5

48. Two dice are thrown. The events A , B and C are as

follows. 

A : getting an even number on the first die 

B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  


state true or flase ( give reason for yours answer).

A = B'.

Watch Video Solution

≤ 5

https://dl.doubtnut.com/l/_ZTJsEjeJm9PA
https://dl.doubtnut.com/l/_xcqStRS0XvCX


Watch Video Solution

49. Two dice are thrown. The events A , B and C are as

follows. 

A : getting an even number on the first die 

B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  


state true or false ( give reason for yours answer).

A and C are mutually exclusive.

Watch Video Solution

≤ 5

50. Two dice are thrown. The events A , B and C are as

follows. 

https://dl.doubtnut.com/l/_xcqStRS0XvCX
https://dl.doubtnut.com/l/_HINE1qTLWucT
https://dl.doubtnut.com/l/_Mux7XSAYI8Ab


A : getting an even number on the first die 

B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  


state true or flase ( give reson for yours answer) A and B'

are mutually exclusive

Watch Video Solution

≤ 5

51. Two dice are thrown. The events A , B and C are as

follows. 

A : getting an even number on the first die 

B : getting an odd number on the first die. 

C : getting the sum of the number on the dice  


state true or false ( give reason for yours answer).

A', B' , C are mutually exclusive and exhaustive.

≤ 5

https://dl.doubtnut.com/l/_Mux7XSAYI8Ab
https://dl.doubtnut.com/l/_YDhmSJGAU014


Watch Video Solution

52. A fair die is thrown Write down the sample space

Watch Video Solution

53. A die is thrown at random Let A and B be the evnts

that the "die shows an even number " the die shows a

prime number" respectively. Write down A nd B sets

Watch Video Solution

https://dl.doubtnut.com/l/_YDhmSJGAU014
https://dl.doubtnut.com/l/_aLYhDUAIRBFV
https://dl.doubtnut.com/l/_uM4h7xvQ1tX0


54. Consider the sample space S = { 1,2,3,4,5,6,7} of a

random experiment. Let A and B be two events given by

A = {1,2,3,4} and B = {3,4,5,6,7} Are A and B mutually

exclusive? Are A and B exhaustive ? Justify your answer.

Watch Video Solution

55. Suppose a bag contains 5 white balls. Let the white

balls be denoted by  and  If one ball is

chosen at random, write down the sample space.

Watch Video Solution

w1, w2, w3, w4 w5

https://dl.doubtnut.com/l/_c7XP1RsQXKcK
https://dl.doubtnut.com/l/_L1DZ3hxRLdzW


56. Suppose a bag contains 5 white balls. Let the white

balls be denoted by  and  If two ball are

chosen at random without replacement, write down the

sample space

Watch Video Solution

w1, w2,3 , w4 w5

57. Suppose a bag contains 5 white balls. Let the white

balls be denoted by  and  If two balls are

chosen at random with replacement, write the sample

space

Watch Video Solution

w1, w2,3 , w4 w5

https://dl.doubtnut.com/l/_lSiIeEndeDxD
https://dl.doubtnut.com/l/_95Y9ic77D1fz
https://dl.doubtnut.com/l/_4XjvUsmpkXrc


58. Given that a sample space is discrete if it contain

either a finite number of points or a countably infinite

number of points and a sample space is continuous if it

contains uncountable number of points If coin is tossed

till a tail appears, find the sample space.

Watch Video Solution

59. Suppose that two letters of the words "MATHS" are

arrenged at random Write down the sample space.

Watch Video Solution

https://dl.doubtnut.com/l/_4XjvUsmpkXrc
https://dl.doubtnut.com/l/_ycPGTDsuIWgH


60. Suppose that two letters of the words "MATHS" are

arranged at random Let A be the event that in the

arrangement A occupies first position and B be the

event that in the arrangement M occupies the second

position. Write A and B as sets.

Watch Video Solution

61. Suppose that two letters of the words "MATHS" are

arranged at random Let A be the event that in the

arrangement A occupies first position and B be the

event that in the arrangement M occupies the second

position. Write A and B as sets.

Watch Video Solution

https://dl.doubtnut.com/l/_VTpVYBILtNlL
https://dl.doubtnut.com/l/_D7el5ZErn8X9


62. Suppose that a group of students consists of 3 boys

namely  and  If two students are selected at

random from the group, write the sample space.

Watch Video Solution

G1, G2 G3

63. Suppose that a group of students consists of 3 boys

namely  and  and 3 girls namely  and 

 If two students of the group are arranged at

random, write the sample space.

Watch Video Solution

B1, B2 B3 G1, G2

G3

https://dl.doubtnut.com/l/_D7el5ZErn8X9
https://dl.doubtnut.com/l/_rM3LYKN4mrWA
https://dl.doubtnut.com/l/_Ftbvo70WWrlb
https://dl.doubtnut.com/l/_XLm46w6zA0Pq


64. Consider the sample space S = { 1,2,3,4,5,6,7} of a

random experiment. Let A and B be two events given by

A = {1,2,3,4} and B = {3,4,5,6,7} Are A and B mutually

exclusive? Are A and B exhaustive ? Justify your answer.

Watch Video Solution

65. Consider the sample space S = { 1,2,3,4,5,6,7} of a

random experiment. Let A and B be two events given by

A = {1,2,3,4} and B = {3,4,5,6,7} Write down the following

event as sets -The events that A occurs but B does not

occur

Watch Video Solution

https://dl.doubtnut.com/l/_XLm46w6zA0Pq
https://dl.doubtnut.com/l/_tYWTLc5IiJPc
https://dl.doubtnut.com/l/_o5aROBmeG74r


66. Consider the sample space S = { 1,2,3,4,5,6,7} of a

random experiment. Let A and B be two events given by

A = {1,2,3,4} and B = {3,4,5,6,7} Write down the following

event as sets- The event that either A or B occurs.

Watch Video Solution

67. Consider the sample space S = { 1,2,3,4,5,6,7} of a

random experiment. Let A and B be two events given by

A = {1,2,3,4} and B = {3,4,5,6,7} Write down the following

event as sets -The event that both A and B occur

together.

Watch Video Solution

https://dl.doubtnut.com/l/_o5aROBmeG74r
https://dl.doubtnut.com/l/_oKLH6c0AxQHm
https://dl.doubtnut.com/l/_PxhNskgoKAf0


68. Consider the sample space S = { 1,2,3,4,5,6,7} of a

random experiment. Let A and B be two events given by

A = {1,2,3,4} and B = {3,4,5,6,7} Write down the following

events as sets The event that neither A nor B occurs

Watch Video Solution

69. Consider the sample space S = { 1,2,3,4,5,6,7} of a

random experiment. Let A and B be two events given by

A = {1,2,3,4} and B = {3,4,5,6,7} Write down the following

event as sets- The event that A occurs or B does not

occur.

Watch Video Solution

https://dl.doubtnut.com/l/_PxhNskgoKAf0
https://dl.doubtnut.com/l/_bOsRrdknzxsJ


70. Consider the random experiment of tossing two

coins together Write down the sample space

Watch Video Solution

71. Consider the random experiment of tossing two

together which of the following events is a sure event

and which is an impossible event? The event that the

first coin shows head

Watch Video Solution

https://dl.doubtnut.com/l/_kWuwjdZWSJrn
https://dl.doubtnut.com/l/_7ENsICKwpKzO


72. Consider the random experiment of tossing two

together which of the following events is a sure event

and which is an impossible event? The event that at

least one coin shows head.

Watch Video Solution

73. Consider the random experiment of tossing two

together which of the following events is a sure event

and which is an impossible event? The event that the

first coin shows head

Watch Video Solution

https://dl.doubtnut.com/l/_lw2MqmVokDDB
https://dl.doubtnut.com/l/_peAOGgamtcX7
https://dl.doubtnut.com/l/_HnkDcZMkS2Tb


74. Consider the random experiment of tossing two

coins together which of the following events is a sure

event and which is an impossible event? The event that

the each coin shows either a head or a tail.

Watch Video Solution

75. Consider the random experiment of tossing two

together which of the following events is a sure event

and which is an impossible event? The event that both

coins can't show head together.

Watch Video Solution

https://dl.doubtnut.com/l/_HnkDcZMkS2Tb
https://dl.doubtnut.com/l/_888WmvTgSfqI


76. Suppose a coin is tossed at random. Find probaility

for getting head.

Watch Video Solution

77. Suppose a coin is tossed at random. Find probaility

for getting tail.

Watch Video Solution

78. A fair die is thrown Write down the sample space

Watch Video Solution

https://dl.doubtnut.com/l/_dVzdJBPdxSPj
https://dl.doubtnut.com/l/_wCi0ZVvWei5d
https://dl.doubtnut.com/l/_22lqUlgfU359
https://dl.doubtnut.com/l/_DsX9DnTxItvi


79. A fair die is thrown Let A be the event that the

number thrown is less than 4. Write A as a set. Hence ,

find P(A)

Watch Video Solution

80. A fair die is thrown, find the probability that the

number thrown is not less than 4.

Watch Video Solution

81. Suppose that two coins are tossed simultaneously

Write down the sample space

Watch Video Solution

https://dl.doubtnut.com/l/_DsX9DnTxItvi
https://dl.doubtnut.com/l/_YZEy7epCvKx9
https://dl.doubtnut.com/l/_l538y1jyOKJV


82. Suppose that two coins are tossed simultaneously

Let A be the event that the first coin shows head and B

be the event that both coin show tail. Write A and B as

sets. Hence, find P (A) and P(B)

Watch Video Solution

83. Suppose that two coins are tossed simultaneously

Let A be the event that the first coin shows head and B

be the event that both coin show tail. Write A and B as

sets. Hence, find P (A) and P(B)

Watch Video Solution

https://dl.doubtnut.com/l/_l538y1jyOKJV
https://dl.doubtnut.com/l/_fdd9NQpPCHNg
https://dl.doubtnut.com/l/_W6IXkUT7iM1K


84. Consider the random experiment of throwing two

dice together Write the sample space of the experiment

Watch Video Solution

85. Consider the random experiment of throwing two

dice together What is the probability of "getting a sum

12"?

Watch Video Solution

86. Consider the random experiment of throwing two

dice together Write any two events which are mutually

https://dl.doubtnut.com/l/_0sgD7lUTjzqY
https://dl.doubtnut.com/l/_FzyhcJTxuLjT
https://dl.doubtnut.com/l/_7Xq8SKXSs87j


exclusive and exhaustive from the above experiment

Watch Video Solution

87. Three unbiased coins are tossed simultaneously

Write down the sample space.

Watch Video Solution

88. Three unbiased coins are tossed simultaneously Find

the probability of getting one tail.

Watch Video Solution

https://dl.doubtnut.com/l/_7Xq8SKXSs87j
https://dl.doubtnut.com/l/_fsyGbF0jv5OS
https://dl.doubtnut.com/l/_BGt2RfpIdlAV


89. Three unbiased coins are tossed simultaneously Find

the probability of getting more heads than tails.

Watch Video Solution

90. Three unbiased coins are tossed simultaneously Find

the probability of getting at most one head

Watch Video Solution

91. There are 100 sstudents in a college class of which 36

are boys studying statistics and 13 girls not studying

statistics. There are 55 girls in all. Suppose a students is

https://dl.doubtnut.com/l/_lXE9wVHnarY6
https://dl.doubtnut.com/l/_tQxUprMNqzlG
https://dl.doubtnut.com/l/_0G3yKYxTq17f


picked up at random form the class. Then match the

following 




Watch Video Solution

92. The letters of the word "SOCIETY" are placed at

random in a row Find the number of ways in which all

the letters of given word can be permuted in a row

W h Vid S l i

https://dl.doubtnut.com/l/_0G3yKYxTq17f
https://dl.doubtnut.com/l/_LPlKpgpa69ky


Watch Video Solution

93. The letters of the word "SOCIETY" are placed at

random in a row Find the number of arrangements of

the letters of the given word in a row so that the three

vowels come together.

Watch Video Solution

94. The letters of the word "SOCIETY" are placed at

random in a row What is the probability that in the

random arrangement of the letters of the given word

the three vowels come together?

Watch Video Solution

https://dl.doubtnut.com/l/_LPlKpgpa69ky
https://dl.doubtnut.com/l/_Ee6esCuElMVZ
https://dl.doubtnut.com/l/_QxLoppXt6p1d


95. Thirteen persons take their places at a round table.

In how many ways the 13 persons can be arranged ?

Watch Video Solution

96. Thirteen persons take their places at a round table.

In how many arrangements two particular person

sitting together?

Watch Video Solution

97. Thirteen persons take their places at a round table.

Show that it is five to one against two particular prssons

https://dl.doubtnut.com/l/_QxLoppXt6p1d
https://dl.doubtnut.com/l/_hXNm8y8moedE
https://dl.doubtnut.com/l/_OEQfRtQBXsnD
https://dl.doubtnut.com/l/_lc7RAusFP0eS


sitting together.

Watch Video Solution

98. Suppose A and B are two events associated with a

random experiment so that P(A)=0.5, P(B)=0.3 and

 


Find 

Watch Video Solution

P (A ∩ B) = 0.2

P (A ∪ B)

99. Suppose A and B are two events associated with a

random experiment so that P(A)=0.5, P(B)=0.3 and

https://dl.doubtnut.com/l/_lc7RAusFP0eS
https://dl.doubtnut.com/l/_iVX3wkROz5VO
https://dl.doubtnut.com/l/_Qldg1sAzScE2


 


 and 

Watch Video Solution

P (A ∩ B) = 0.2

P( ¯̄̄A) P(¯̄̄B)

100. Suppose A and B are two events associated with a

random experiment so that P(A)=0.5, P(B)=0.3 and

 


Watch Video Solution

P (A ∩ B) = 0.2

P(A ∩ ¯̄̄B)

101. Suppose A and B are two events associated with a

random experiment so that P(A)=0.5, P(B)=0.3 and

https://dl.doubtnut.com/l/_Qldg1sAzScE2
https://dl.doubtnut.com/l/_5d8FuHi3nVHh
https://dl.doubtnut.com/l/_qFNdSGktaHPL


 


P (exactly one of A and B ocurs)

Watch Video Solution

P (A ∩ B) = 0.2

102. Suppose A and B are two events associated with a

random experiment so that P(A)=0.5, P(B)=0.3 and

 


P(none of A and B occurs)

Watch Video Solution

P (A ∩ B) = 0.2

103. Suppose A and B are two events associated with a

random experiment so that P(A)=0.5, P(B)=0.3 and

https://dl.doubtnut.com/l/_qFNdSGktaHPL
https://dl.doubtnut.com/l/_n6O2lQvpoDex
https://dl.doubtnut.com/l/_ltSq5qCtRxMO


 


Watch Video Solution

P (A ∩ B) = 0.2

P( ¯̄̄A ∪ B)

104. The probability that a student passes in a physics

test is 2/3 and the probability that he passes both the

physics and English test is 14/45. If the probability that

he passes at least one test is 4/5, find the probability

that the student does't pass the physics test

Watch Video Solution

https://dl.doubtnut.com/l/_ltSq5qCtRxMO
https://dl.doubtnut.com/l/_VwAX36Deft6B


105. The probability that a student passes in a physics

test is  and the probability that he passes both the

physics and English test is . If the probability that he

passes at least one test is , find the probability that

the student passes English test.

Watch Video Solution

2

3
14

45
4

5

106. The probability that a student passes in a physics

test is  and the probability that he passes both the

physics and English test is . If the probability that he

passes at least one test is , find the probability that

the student passes exactly one of the two tests

Watch Video Solution

2

3
14

45
4

5

https://dl.doubtnut.com/l/_wfLn4oASWzz6
https://dl.doubtnut.com/l/_wWmg5nBVX9rZ


107. The probability that a student passes in a physics

test is  and the probability that he passes both the

physics and English test is . If the probability that he

passes at least one test is , find the probability that

the student passes neither the Physics test nor the

English test.

Watch Video Solution

2

3
14

45
4

5

108. Which of the following can not be vaild assignment

of probabilities for outcomes of sample space

https://dl.doubtnut.com/l/_wWmg5nBVX9rZ
https://dl.doubtnut.com/l/_L4e0ppgTTns4
https://dl.doubtnut.com/l/_nwpmFzcT9VbL


 


Watch Video Solution

S = {w1, w2, w3, w4, w5, w6, w7}

109. A coin is tossed twice. What is the probability that

atleast one tail occurs?

Watch Video Solution

110. A die is rolled,find the probability of following event:

A prime number will appear.

https://dl.doubtnut.com/l/_nwpmFzcT9VbL
https://dl.doubtnut.com/l/_itdjo7iEz5oq
https://dl.doubtnut.com/l/_ELLQmDCBxEC5


Watch Video Solution

111. A die is rolled,find the probability of following event: 

A number greater than or equal to 3 will appear.

Watch Video Solution

112. A die is rolled,find the probability of following event:

A number less than or equal to one will appear.

Watch Video Solution

https://dl.doubtnut.com/l/_ELLQmDCBxEC5
https://dl.doubtnut.com/l/_XyiDFDkyKVos
https://dl.doubtnut.com/l/_SxPMixN7N6FU


113. A die is rolled,find the probability of following event:

A number more than 6 will appear.

Watch Video Solution

114. A die is rolled,find the probability of following event:

A number less than 6 will appear.

Watch Video Solution

115. A card is selected from a pack of 52 cards 

How many points are there in the sample space?

Watch Video Solution

https://dl.doubtnut.com/l/_GvfD9QJatGow
https://dl.doubtnut.com/l/_adc0RcELM26m
https://dl.doubtnut.com/l/_FCahSd0nBYBJ


116. A card is selected from a pack of 52 cards , Calculate

the 

probability that the card is an ace of spades.

Watch Video Solution

117. A card is selected from a pack of 52 cards 

Calculate the probability that the card is an ace

Watch Video Solution

118. A card is selected from a pack of 52 cards 

Calculate the probability that the card is black card

https://dl.doubtnut.com/l/_FCahSd0nBYBJ
https://dl.doubtnut.com/l/_PQ7LQyDqZWWu
https://dl.doubtnut.com/l/_BsunBeDlI9WC
https://dl.doubtnut.com/l/_uq3jxKXpTnTz


Watch Video Solution

119. A fair coin with I marked on one face and 6 on the

other and a fair die are both tossed, find the probability

that the sum of the numbers that turn up is 12

Watch Video Solution

120. A fair coin with I marked on one face and 6 on the

other and a fair die are both tossed, find the probability

that the sum of the numbers that turn up is 12

Watch Video Solution

https://dl.doubtnut.com/l/_uq3jxKXpTnTz
https://dl.doubtnut.com/l/_07NAJ4ymGQoY
https://dl.doubtnut.com/l/_lqZGzVRPBFsQ
https://dl.doubtnut.com/l/_WllWbMUtxotW


121. A fair coin is tossed four times and a person win Rs.

1 for each head and lose Rs. 1.50 for each tail that turns

up.

From the sample space calculate how many different

amounts of money you can have after four tosses and

the probability of having each of these amounts.

Watch Video Solution

122. Three coins are tossed once. Find the probability of

getting 

3 heads

Watch Video Solution

https://dl.doubtnut.com/l/_WllWbMUtxotW
https://dl.doubtnut.com/l/_sqHjIEvdOAhp
https://dl.doubtnut.com/l/_oIC2VuqyCIhV


123. Three coins are tossed once. Find the probability of

getting 

2 heads

Watch Video Solution

124. Three coins are tossed once. Find the probability of

getting atleast two heads.

Watch Video Solution

125. Three coins are tossed once. Find the probability of

getting 

atmost 2 heads

https://dl.doubtnut.com/l/_oIC2VuqyCIhV
https://dl.doubtnut.com/l/_iBxXnWYaqUUT
https://dl.doubtnut.com/l/_LlyaATjl60mA


Watch Video Solution

126. Three coins are tossed once. Find the probability of

getting no head.

Watch Video Solution

127. Three coins are tossed once. Find the probability of

getting 

3 tails

Watch Video Solution

https://dl.doubtnut.com/l/_LlyaATjl60mA
https://dl.doubtnut.com/l/_qu7HWiMeDpyq
https://dl.doubtnut.com/l/_DbXb1vARJBGF


128. Three coins are tossed once. Find the probability of

getting 

exactly two tails

Watch Video Solution

129. Three coins are tossed once. Find the probability of

getting 

no tails

Watch Video Solution

https://dl.doubtnut.com/l/_F8NYMQpxmkJN
https://dl.doubtnut.com/l/_4rhR16CaKsnO


130. Three coins are tossed once. Find the probability of

getting 

at most two tails

Watch Video Solution

131. If  is the probability of an event A,then what is

the probability of the event 'not A'?

Watch Video Solution

2

11

132. A letter of the word  are

randomly chosen. Find the probability that letter is a

ASSASSINAT ION

https://dl.doubtnut.com/l/_Zxnwa4wbcxWf
https://dl.doubtnut.com/l/_7Vl5IpE7DRIl
https://dl.doubtnut.com/l/_K8WWziWWEgE9


vowel.

Watch Video Solution

133. A letter of the word  are

randomly chosen. Find the probability that letter is a

consonant.

Watch Video Solution

ASSASSINAT ION

134. In a lottery, a person chosen six different natural

numbers from 1 to 20 and if these six number match

with six numbers already fixed by the lottery committee,

he wins the prize. What is the probability of winning the

https://dl.doubtnut.com/l/_K8WWziWWEgE9
https://dl.doubtnut.com/l/_doTmMr7nNbZ1
https://dl.doubtnut.com/l/_LRY4FCC065r4


prize in the game (order of the numbers is not

important)

Watch Video Solution

135. Check whether the following probabilites P(A) and

P(B) are consistently defined. 

Watch Video Solution

P (A) = 0.5, P (B) = 0.7, P (A ∩ B) = 0.6

136. Check whether the following probabilites P(A) and

P(B) are consistently defined. 

P (A) = 0.5, P (B) = 0.4, P (A ∪ B) = 0.8

https://dl.doubtnut.com/l/_LRY4FCC065r4
https://dl.doubtnut.com/l/_A73LCCqDqGWt
https://dl.doubtnut.com/l/_WBYK84s72x2P


Watch Video Solution

137. Fill in the balnks in the following table 

Watch Video Solution

138. Given  and  


Find P(A or B), if A and B are mutually exclusive events.

Watch Video Solution

P (A) =
3

5
P (B) =

1

5

https://dl.doubtnut.com/l/_WBYK84s72x2P
https://dl.doubtnut.com/l/_V1581G41mwGP
https://dl.doubtnut.com/l/_r8WqUIH6fGAn


139. If E and F are events such that

,and . find P(E

or F).

Watch Video Solution

P (E) = , P (F ) =
1

4

1

2
p(E and F ) =

1

8

140. If E and F are events such that P(E)=1/4, P(F)=1/2 and

P(E and F)=1/8, find 

P(not E and not F)

Watch Video Solution

https://dl.doubtnut.com/l/_BghoRap1KW8a
https://dl.doubtnut.com/l/_V1hlWmwGAdQ3


141. Events E and F are such that P(not E or not F)=0.25.

State whether E and F are mutually exclusive.

Watch Video Solution

142. A and B are events such that P(A)=0.42, P(B)=0.48

and P(A and B)=0.16. Determine P(not A)

Watch Video Solution

143. A and B are events such that P(A)=0.42, P(B)=0.48

and P(A and B)=0.16. Determine P(not B)

Watch Video Solution

https://dl.doubtnut.com/l/_c0L4PbKSzZLp
https://dl.doubtnut.com/l/_d4yIbDvtYRhl
https://dl.doubtnut.com/l/_6KQ9UMiRWN28


144. A and B are events such that P(A)=0.42, P(B)=0.48

and P(A and B)=0.16. Determine P(A or B)

Watch Video Solution

145. In class XI of a school 40% of the students study

Mathematics and 30% study Biology, 10% of the class

study both Mathematics and Biology. If a student is

selected at random from the class, find the probability

that he will be studying mathematics or Biology.

Watch Video Solution

https://dl.doubtnut.com/l/_6KQ9UMiRWN28
https://dl.doubtnut.com/l/_cUQfIAETLMaC
https://dl.doubtnut.com/l/_UwvidteKwbwI


146. In an entrance test that is graded on the basis of

two examinations, the probability of a randomly chosen

student passing the first examination is 0.8 and the

probability of passing the second examination is 0.7. The

probability of passing at least one of them is 0.95. What

is the probability of passing both?

Watch Video Solution

147. The probability that Ramu pass the examination in

both mathematics and Physics is 0.5, the probability of

passing neither Mathematics nor Physics is 0.1,the

probability of passing Mathematics is 0.75 What is

probability of passing Physics?

https://dl.doubtnut.com/l/_9TkKCQULTAxr
https://dl.doubtnut.com/l/_35A0uvuKEqji


Watch Video Solution

148. In a class of 60 students, 30 selected for NCC, 32

selected for NSS and 24 selected for both NCC and NSS.

If one of these students is selected at random,find the

probability that:the students has selected neither NCC

nor NSS.

Watch Video Solution

149. In a class of 60 students, 30 selected for NCC, 32

selected for NSS and 24 selected for both NCC and NSS .

If one of these students is selected at random,find the

probability that: the students selected for NCC or NSS.

https://dl.doubtnut.com/l/_35A0uvuKEqji
https://dl.doubtnut.com/l/_zHd9LUtqhWHW
https://dl.doubtnut.com/l/_S0hbQ6OFOjm4


Watch Video Solution

150. Suppose A, B and C are three mutually exclusive and

exhaustive events.What is ?

Watch Video Solution

A ∪ B ∪ C

151. Suppose A, B and C are three mutually exclusive and

exhaustive events 

Prove that P(A)+P(B)+P(C)=1

Watch Video Solution

https://dl.doubtnut.com/l/_S0hbQ6OFOjm4
https://dl.doubtnut.com/l/_4eejZEVvWp33
https://dl.doubtnut.com/l/_vir4HCDfOn1c


152. Suppose A, B and C are three mutually exclusive and

exhaustive events. If in addition  P(C)= P(A)=P(B), find

P(A), P(C)

Watch Video Solution

1

3

1

2

153. A bag contains 5 red balls, 3 black balls and 4 white

balls. A ball is drawn out of the bag at random 

What is the probability that the ball drawn is white?

Hence find the probability that the ball drawn is either

red or white

Watch Video Solution

https://dl.doubtnut.com/l/_p3aJYvbnLQLT
https://dl.doubtnut.com/l/_hDaEsIQRO7Dt
https://dl.doubtnut.com/l/_dOAMhw8tysmI


154. A bag contains 5 red balls, 3 black balls and 4 white

balls. A ball is drawn out of the bag at random 

What is the probability that the ball drawn is white?

Hence find the probability that the ball drawn is either

red or white. find the probability that the ball drawn is

either red or black.

Watch Video Solution

155. Two dice are rolled once. Let A be the event that the

first die shows an odd number and B be the event that

the sum of the numbers on the dice is 8. 

https://dl.doubtnut.com/l/_dOAMhw8tysmI
https://dl.doubtnut.com/l/_axYibisF2xjD


Complete the following table 

Watch Video Solution

156. Two dice are rolled once. Let A be the event that the

first die shows an odd number and B be the event that

the sum of the numbers on the dice is 8. 

Find the probability that either the first die shows an

odd number or the sum of numbers on the dice is 8.

W t h Vid S l ti

https://dl.doubtnut.com/l/_axYibisF2xjD
https://dl.doubtnut.com/l/_TbfYO7ZKdwFD


Watch Video Solution

157. Two dice are thrown at random. Match the following

Watch Video Solution

158. Suppose that four coins are tossed together 

write the event of getting at least three heads as a set.

Watch Video Solution

https://dl.doubtnut.com/l/_TbfYO7ZKdwFD
https://dl.doubtnut.com/l/_3nnzXeUVtqft
https://dl.doubtnut.com/l/_8rNGGwc26HFe
https://dl.doubtnut.com/l/_nBxdrifBQMJ3


159. Suppose that four coins are tossed together.Find

the probability of getting at least three heads.

Watch Video Solution

160. The letters of the word "SOCIETY" are placed at

random in a row Find the number of ways in which all

the letters of given word can be permuted in a row

Watch Video Solution

161. Suppose that the letters of the word "INSTITUTION"

are arranged together at random. Find the number of

https://dl.doubtnut.com/l/_nBxdrifBQMJ3
https://dl.doubtnut.com/l/_K1BQywg3EvHw
https://dl.doubtnut.com/l/_Fa38zuaLUOJX


arrangements of the letters so that the three T's are

together.

Watch Video Solution

162. The letters of the word "SOCIETY" are placed at

random in a row What is the probability that in the

random arrangement of the letters of the given word

the three vowels come together?

Watch Video Solution

163. A bag contains 5 white and 3 black balls. Two balls

are drawn at random one after the other without

https://dl.doubtnut.com/l/_Fa38zuaLUOJX
https://dl.doubtnut.com/l/_SGZc0LkqIPqQ
https://dl.doubtnut.com/l/_iLmFRxrEI8eQ


replacement. Find in how many ways the two balls can

be drawn.

Watch Video Solution

164. A bag contains 5 white and 3 black balls. Two balls

are drawn at random one after the other without

replacement. Find in how many ways the two balls can

be drawn.

Watch Video Solution

165. A bag contains 5 white and 3 black balls. Two balls

are drawn at random one after the other without

https://dl.doubtnut.com/l/_iLmFRxrEI8eQ
https://dl.doubtnut.com/l/_MwsFCsDuTQDd
https://dl.doubtnut.com/l/_cgs6af2s9H6T


replacement. Find the probability that both balls drawn

from the bag are black.

Watch Video Solution

166. Tickets numbered from 1 to 20 are mixed up

together and then a ticket is drawn at random. 

In how many ways one ticket can be drawn.

Watch Video Solution

167. Tickets numbered from 1 to 20 are mixed up

together and then a ticket is drawn at random. Find the

https://dl.doubtnut.com/l/_cgs6af2s9H6T
https://dl.doubtnut.com/l/_EO9we3baYpZt
https://dl.doubtnut.com/l/_HdqfyfKwMTf1


probability that the ticket drawn has a number which is

a multiple of 3 or 7.

Watch Video Solution

168. Tickets numbered from 1 to 20 are mixed up

together and then a ticket is drawn at random. Find the

probability that the ticket drawn has a number which is

a multiple of 3 or 7.

Watch Video Solution

169. Three dice are thrown simultaneously. Find the

sample space

https://dl.doubtnut.com/l/_HdqfyfKwMTf1
https://dl.doubtnut.com/l/_XJx4MIXmFWyL
https://dl.doubtnut.com/l/_qjWWddl9iUrf


Watch Video Solution

170. Three dice are thrown simultaneously. write the

event that all the three dice show the same number as a

set.

Watch Video Solution

171. Three dice are thrown simultaneously. Find the

probability that all the three dice show the same

number.

Watch Video Solution

https://dl.doubtnut.com/l/_qjWWddl9iUrf
https://dl.doubtnut.com/l/_qLSl3asDDYxk
https://dl.doubtnut.com/l/_3ni5gg249tfA


172. A word consists of 9 letters: 5 consonents and 4

vowels. Three letters are chosen at random. In how

many ways can these 3 letters be chosen.

Watch Video Solution

173. A word consists of 9 letters: 5 consonants and 4

vowels. Three letters are chosen at random. In how

many ways more than one vowel can be selected.

Watch Video Solution

https://dl.doubtnut.com/l/_8jUt5wW5gBWC
https://dl.doubtnut.com/l/_9tnfJA0RtZAO


174. A word consists of 9 letters: 5 consonants and 4

vowels. Three letters are chosen at random. Find the

probability that the selection of the three letters

contains more than one vowel.

Watch Video Solution

175. From a group of 3 boys  and 2 girls 

, 2 are selected at random. write the sample

space.

Watch Video Solution

B1, B2, B3

G1, G2

https://dl.doubtnut.com/l/_EMG8oekiAGVI
https://dl.doubtnut.com/l/_aWQuv06Dq5xe


176. From a group of 3 boys  and 2 girls 

, 2 are selected at random. In how many ways the

2 persons can be selected from the group

Watch Video Solution

B1, B2, B3

G1, G2

177. From a group of 3 boys  and 2 girls 

, 2 are selected at random. In how many ways 2

boys can be selected from the group

Watch Video Solution

B1, B2, B3

G1, G2

https://dl.doubtnut.com/l/_3PhV33d9jTvb
https://dl.doubtnut.com/l/_ZZh4HLaUncVL


178. From a group of 3 boys  and 2 girls 

, 2 are selected at random. Find the probability

that the two selected persons are boys.

Watch Video Solution

B1, B2, B3

G1, G2

179. How many days are there in a non-leap year?

Watch Video Solution

180. How many complete weeks are there in a non-leap

year?

Watch Video Solution

https://dl.doubtnut.com/l/_cgrzSdDJ4j3I
https://dl.doubtnut.com/l/_XCcBftty3RRy
https://dl.doubtnut.com/l/_iFx3dZ1p0yH5


181. What is the probability that a non-leap year selected

at random will contain 53 mondays?

Watch Video Solution

182. Given the digits 1,2,3 and 8 How many two digit

numbers can be formed using the given digits?

Watch Video Solution

183. A five digit number is formed at random by using

the digits 1, 2, 3, 4, 5, 6 and 7. How many five digit

numbers formed will have distinct digits?

https://dl.doubtnut.com/l/_iFx3dZ1p0yH5
https://dl.doubtnut.com/l/_JNHv9LpBAHKN
https://dl.doubtnut.com/l/_5YW2BBbNZa66
https://dl.doubtnut.com/l/_Lp16egLsTZtX


Watch Video Solution

184. A five digit number is formed at random by using

the digits 1, 2, 3, 4, 5, 6 and 7. Find the chance that the

number formed has none of its digits is repeated.

Watch Video Solution

185. Given that A and B are two events associated with a

random experiment such that P(A)=0.5, P(B)=0.4 and

https://dl.doubtnut.com/l/_Lp16egLsTZtX
https://dl.doubtnut.com/l/_kvRerc0uOQmZ
https://dl.doubtnut.com/l/_js9tinH8H66Y


=0.7. Then match the following 
P (A ∪ B)

https://dl.doubtnut.com/l/_js9tinH8H66Y


Watch Video Solution

186. Will the following statement be consistent? why?

for two events A and B,  and 

 is 0.8.

Watch Video Solution

P (A) = 0.4, P (B) = 0.5

P (A ∪ B)

187. Will the following statement be consistent? why?

for two events A and B P(A) =0.3 , P(B)=0.2 and 

is 0.1

Watch Video Solution

P (A ∩ B)

https://dl.doubtnut.com/l/_js9tinH8H66Y
https://dl.doubtnut.com/l/_W01too6Rl7To
https://dl.doubtnut.com/l/_cYOIOl9ywVn5


188. Will the following statement be consistent? why?

for two events A and B  P(A)=0.3 and

P(B)=0.1

Watch Video Solution

P (A ∩ B) = 0.4

189. The probability that a contractor will get a

plumbing contract is 2/3 and the probability that he will

not get an electric contract is 5/9. The probability that

he will get at least one contract is 4/5.suppose A is the

event that ther contract will get plumbing contract and

B is the event that the contractor will get electric

contract.P(A)=..........., P(B)=..............., =...............

Watch Video Solution

P (A ∪ B)

https://dl.doubtnut.com/l/_gCvlEqKqYxYR
https://dl.doubtnut.com/l/_ELFwXyGoNRCf


190. The probability that a contractor will get a

plumbing contract is  and the probability that he will

not get an electric contract is . The probability that he

will get at least one contract is .suppose A is the

event that the contractor will get plumbing contract

and B is the event that the contractor will get electric

contract. using addition theorem of probability find the

probability that the contractor will get both the

contracts.

Watch Video Solution

2

3
5

9
4

5

https://dl.doubtnut.com/l/_ELFwXyGoNRCf
https://dl.doubtnut.com/l/_qcvfCXVTqzdW


191. The probability that a contractor will get a plumbing

contract is 2/3 and the probability that he will not get

an electric contract is 5/9. The probability that he will

get at least one contract is 4/5.suppose A is the event

that ther contract will get plumbing contract and B is

the event that the contractor will get electric

contract.Also find the probability that the contractor

will get both the contracts.

Watch Video Solution

192. Two dice thrown at random find the probability that

the sum of the numbers thrown is 7.

Watch Video Solution

https://dl.doubtnut.com/l/_J3wQ41XwWzrr
https://dl.doubtnut.com/l/_Yl7YagILiA3P


193. Two dice thrown at random find the probabilty that

the sum of the numbers thrown is 11.

Watch Video Solution

194. Two dice thrown at random Using addition theorem

of probability find the probability that the sum of the

numbers thrown is neither 7 nor 11.

Watch Video Solution

https://dl.doubtnut.com/l/_Yl7YagILiA3P
https://dl.doubtnut.com/l/_l2BfMNFAJMba
https://dl.doubtnut.com/l/_j5b1sCqlBGXk


195. Two dice thrown at random By counting directly the

number of elementary cases favourbale to the event of

getting a sum=7, or a sum=11 find the probability that

the sum of the numbers thrown is neither 7 nor 11.

Watch Video Solution

196. A box contains 10 red marbles,20 blue marbles and

30 green marbles.

5 marbles are drawn from the box,what is the

probability that all will 

be blue.

Watch Video Solution

https://dl.doubtnut.com/l/_1t0nWlGtuesI
https://dl.doubtnut.com/l/_ReyG5rc6Lpqn


197. A box contains 10 red marbles,20 blue marbles and

30 green marbles.

5 marbles are drawn from the box,what is the

probability that atleast 

one will be green.

Watch Video Solution

198. 4 cards are drawn from a well shuffled deck of 52

cards.What is the probability of obtaining 3 diamonds

and one spade?

Watch Video Solution

https://dl.doubtnut.com/l/_ceYZwapg11BB
https://dl.doubtnut.com/l/_MlsOApmvdu2r
https://dl.doubtnut.com/l/_CZRrwxabxQgZ


199. A die has two faces each with number 1,three faces

with number 2 and one face with number 3.If the die is

rolled once,determine .

Watch Video Solution

P (2)

200. A die has two faces each with number 1,three faces

with number 2 and one face with number 3.If the die is

rolled once,determine .

Watch Video Solution

P (1 or 3)

201. A die has two faces each with number 1,three faces

with number 2 and one face with number 3.If the die is

https://dl.doubtnut.com/l/_CZRrwxabxQgZ
https://dl.doubtnut.com/l/_JEVd5LPGrOkc
https://dl.doubtnut.com/l/_sISBuEHjQYWV


rolled once,determine P(not 3).

Watch Video Solution

202. In a certain lottery ticket 10000 tickets are sold and

10 equal prizes are awarded

.What is the probability of not getting a prize,if you buy

1 ticket.

Watch Video Solution

203. In a certain lottery ticket 10000 tickets are sold and

10 equal prizes are awarded.

https://dl.doubtnut.com/l/_sISBuEHjQYWV
https://dl.doubtnut.com/l/_BjdaCCMlvSzP
https://dl.doubtnut.com/l/_nblqf1pTXy5N


What is the probability of not getting a prize,if you buy2

tickets.

Watch Video Solution

204. In a certain lottery ticket 10000 tickets are sold and

10 equal prizes are awarded.

What is the probability of not getting a prize,if you buy

10 tickets.

Watch Video Solution

205. Out of 100 students,two sections of 40 and 60 are

formed.If you and your friend are among the 100

https://dl.doubtnut.com/l/_nblqf1pTXy5N
https://dl.doubtnut.com/l/_BOCqBspapqYs
https://dl.doubtnut.com/l/_kdfh5Z3nCGeA


students,what is the probability that You both enter the

same section?

Watch Video Solution

206. Out of 100 students,two sections of 40 and 60 are

formed.If you and your friend are among the 100

students,what is the probability that : You both enter

the different section?

Watch Video Solution

207. Three letters are dictated to three persons and an

envelope is addressed to each of them the letters are

https://dl.doubtnut.com/l/_kdfh5Z3nCGeA
https://dl.doubtnut.com/l/_9HXHnEuxAU27
https://dl.doubtnut.com/l/_styomHE858kD


inserted into the envelopes at random so that each

envelop contains exactly one letter . find the probability

that at least one letter is in its proper envelope.

Watch Video Solution

208. A and B are two events such that  , 

 , and  find 

Watch Video Solution

P (A) = 0.54

P (B) = 0.69 P (A ∩ B) = 0.35 P (A ∪ B)

209. A and B are two events such that  , 

 , and  find 

Watch Video Solution

P (A) = 0.54

P (B) = 0.69 P (A ∩ B) = 0.35 P (A' ∩ B' )

https://dl.doubtnut.com/l/_styomHE858kD
https://dl.doubtnut.com/l/_TMKE25d7Hjre
https://dl.doubtnut.com/l/_MDyGlyqOCWM2


210. A and B are two events such that  ,

 , and  find 

Watch Video Solution

P (A) = 0.54

P (B) = 0.69 P (A ∩ B) = 0.35 P (A ∩ B' )

211. Suppose A and B are two events associated with a

random experiment so that P(A)=0.5, P(B)=0.3 and

 


Watch Video Solution

P (A ∩ B) = 0.2

P(A ∩ ¯̄̄B)

https://dl.doubtnut.com/l/_MDyGlyqOCWM2
https://dl.doubtnut.com/l/_JqN0obyyoO7p
https://dl.doubtnut.com/l/_zxFqv77nmS1Z


212. From the employees of a company 5 persons are

selected to represent them in the managing committte

of the company. particulars of five persons are as

follows: 

Watch Video Solution

213. IF 4 digit numbers greater than or equal to 5000

are randomly formed from the digits 0,1,3,5 and 7 what

https://dl.doubtnut.com/l/_6H4Qkh1m9IYD
https://dl.doubtnut.com/l/_6Mvn0Bh5U2oQ


is the probability of forming a number divisible by 5

when the repetition of digit is not allowed?

Watch Video Solution

214. IF 4 digit numbers greater than or equal to 5000

are randomly formed from the digits 0,1,3,5 and 7 what

is the probability of forming a number divisible by 5

when the repetition of digit is allowed?

Watch Video Solution

215. The number lock of a suit case has 4 wheels each

labelled with ten digits from 0 to 9 . the lock opens with

https://dl.doubtnut.com/l/_6Mvn0Bh5U2oQ
https://dl.doubtnut.com/l/_FQm28ttFdYQX
https://dl.doubtnut.com/l/_EF0DLU2Pa4op


a sequence of four digits with no repeats. what is the

probability of a person getting the right sequence to

open the suitcase.

Watch Video Solution

https://dl.doubtnut.com/l/_EF0DLU2Pa4op

